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To implement the topics covered in this workshop you will need: 
 
•  A feasible science idea 
•  A computer 
•  Access to the internet for the following pages: 

You may want to bookmark these links: 

•  www.eaobservatory.org/jcmt/instrumentation/continuum/scuba-2/itc/ 
•  www.eaobservatory.org/jcmt/instrumentation/heterodyne/itc/  
•  www.eaobservatory.org/jcmt/proposals/northstar/ 



Example 1: SCUBA-2 
 
I have an interesting fragmented 
star forming complex I wish to 
observe. I wish to obtain a 
depth of  5mJy at 850 microns. 
The region is located at an RA 
and Dec of: 19h and +09°.  
 
The complex I am interested in 
is large and spreads out nearly 
a degree in extent, requiring a 
Pong 3600 to cover the entire 
region.  

•  www.eaobservatory.org/jcmt/instrumentation/continuum/scuba-2/itc/ 
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In Band 2 requires: 10 hours 
In Band 3 requires: 15.5hours 
In Band 4 requires: 31 hours 

 
Remember to copy the ITC string into 

your proposal! 



•  www.eaobservatory.org/jcmt/instrumentation/continuum/scuba-2/itc/ 

Example 2: SCUBA-2 
 
I have a collection of  50 Sub-
Millimetre Galaxies (SMG’s) 
at a redshift of  z=4. I wish to 
observe them at both 450 
and 850 microns. I need to 
achieve a depth of  between 
3.5  and 4.5 mJy/beam at 
850 microns.  
 
These objects are faint and 
compact. I expect to use the 
beam match filter during the 
reduction stage. The SMG’s 
either have Declinations 
around: -32° (in the SGP, 38 
in total) or Declinations 
around +30° (in the NGP, 12 
in total). 
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•  www.eaobservatory.org/jcmt/instrumentation/continuum/scuba-2/itc/ 

Total time required: 
 
      (38 x 20mins ) + (12 x 13mins) 
(12hours 40 mins) + ( 2 hours 36 mins) 
  
        15 hours 16 mins Band 2 time. 

Example 2: SCUBA-2 
 
I have a collection of  50 Sub-
Millimetre Galaxies (SMG’s) 
at a redshift of  z=4. I wish to 
observe them at both 450 
and 850 microns. I need to 
achieve a depth of  between 
3.5  and 4.5 mJy/beam at 
850 microns.  
 
These objects are faint and 
compact. I expect to use the 
beam match filter during the 
reduction stage. The SMG’s 
either have Declinations 
around: -32° (in the SGP, 38 
in total) or Declinations 
around +30° (in the NGP, 12 
in total). 
  



•  www.eaobservatory.org/jcmt/instrumentation/heterodyne/itc/  

Example 3: HARP 
 
This project aims to map 
a molecular cloud at a 
declination of  -34° in CO 
(3-2) using HARP. Out 
particular intent is to 
search for and quantify 
any molecular outflows 
that are present within the 
region.   
 
The area we wish to 
observe is 1900” x 1700”. 
From existing data we 
expect the lines to be 
around 10K, with widths 
of  ~4km/s. We therefore 
request a sensitivity of  
0.6K in 1km/s bins.  
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Integration time is: 
1h 28m if tau = 0.2 (Band 3) 

3h 16 m if  tau = 0.15 (band 4) 
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Example 3: HARP 
 
This project aims to map 
a molecular cloud at a 
declination of  -34° in CO 
(3-2) using HARP. Out 
particular intent is to 
search for and quantify 
any molecular outflows 
that are present within the 
region.   
 
The area we wish to 
observe is 1900” x 1700”. 
From existing data we 
expect the lines to be 
around 10K, with widths 
of  ~4km/s. We therefore 
request a sensitivity of  
0.6K in 1km/s bins.  

HITEC Parameters: 

Declination -34° 

Area 1900” x 1700” 

Transition CO:J=3-2 (345.796 GHz) 

rms 0.6K 

Resolution 1km/s 

Weather Band 3 (Tau22 = 0.15) 

Observation type Raster – position switch 

½ array scan spacing 

Basket Weave 

For the proposal: 

Request 1.5 hours Band 3 time.   



•  www.eaobservatory.org/jcmt/instrumentation/heterodyne/itc/  

Example 4: HARP 
 
I wish to investigate the 
HCN level in a comet. It is 
difficult to calculate the 
exact expected sensitivity 
but it is around the ~0.5K 
limit. I will need a rms of  
0.05K with a resolution of  
0.25km/s. 
 
It will be difficult to predict 
which weather band the 
comet will be observed in (it 
will need to be classically 
scheduled). As a result of  
the weather uncertainty I 
will base my proposal on 
poor weather – Band 4. 
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which weather band the 
comet will be observed in (it 
will need to be classically 
scheduled). As a result of  
the weather uncertainty I 
will base my proposal on 
poor weather – Band 4. 

Required integration time is: 
 1h if  tau = 0.14  

(the 'good' part of  weather band 4) 
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HITEC Parameters: 

Declination +62° 

Area n/a 

Transition HCN:J=4-3 (354.51 GHz) 

rms 0.05K 

Resolution 0.25km/s 

Weather Band 4 (Tau225 = 0.14) 

Observation type Stare 

Example 4: HARP 
 
I wish to investigate the 
HCN level in a comet. It is 
difficult to calculate the 
exact expected sensitivity 
but it is around the ~0.5K 
limit. I will need a rms of  
0.05K with a resolution of  
0.25km/s. 
 
It will be difficult to predict 
which weather band the 
comet will be observed in (it 
will need to be classically 
scheduled). As a result of  
the weather uncertainty I 
will base my proposal on 
poor weather – Band 4. 

For the proposal: 

Request 1 hour Band time  



http://www.eaobservatory.org/jcmt/proposals/northstar/  

You have your science idea. You 
know it can be done. Now you 

must ask for time. 



First you will need  
a NorthStar account  

(unless you have one already) 

















Please not this is a ‘test’ semester. If you 
have a real proposal you may upload it here 

for a trial but please save your own copy 
offline. 























Make it easy on the TAC and give them as much 
information as possible – always include the ITC or 

HITEC numbers you specifically used! 


